FRB1EE
HIEgmE=ETmA T EMERATH

(EEREETERO
1 — B 2 H —— 1
2 B M = &
M ERBERBRESBERELZ 14
) EERRBERIRZUDEAELE o 14
(B 2 FH 8 5 /K 8 B £ s 15
(4) 12 12 = B s 15
(5) B =2} 15 ==Y e 16
6) 8 B2 ——— 16
(B%)

(1) FHBVEEBHANEEEE (VTN IFLEE—%
(2) FHRBVEEMSHERZ M E HEEBIRILS) BT TENSERITONT



o

G| (BGI:FH)
21 R | [B[2 EAEESHmanmRXHE
B 1 TR
Bl1 BA RERBR D 121,059
fli & 8,647,072 FHM1.4/100
HEZRHS 7,233,532
R 269,352 0| 3 BEEEEMR
76,958 A 1A 3500 H Bl 1 #B8HEHK
BiEeE] 6,964,180
Eb N ] 121,577,267 FH®D6/100 HEEHS 378,961
BiEkLE 330,456 FH # Al a 5 E £ %A
TR INAR 110,668 & = B
[REIRE(T EHERE 1,594 2,000~ 3,700 3,228
| |B|2 #A B B ¥ = 41,325 1,000~ 12,900 356,536
INRISIREEE 2,212 2,000 - 5,900 10,277
HEREFD 1,647,347 iR BEHE 1,518 6,000 8,920
s 603,453 p=3 T T UAN 6,024
4543 HFr  1HFF 60,000 ~ 3,600,000
Bz 1,043,894 | [B]2 Btz
R AFLEE 8,627,224 FH M 12.1/100
TR 6,626 HERHS 12,191
H|2 BEEER IH| 4 mr=lEXCH
Bl1 BAEEER Bl 1 #rlEiH
HEERHS 7,892,641 HEEFS 1,530,548
Z E A ] 1% S & ] K Z#45  258,461 FAM5,692M/F K 1,471,161
FH FH 4451 43 7,453 FARMD4,000M/F A& 29,812
T ih 124,173,858| 1.4/100 1,738,434 4968 FAM5,692M/F K 28,277
£ = 320,071,786 1.4/100 4,481,005 FiE DR 1,298
& # & @& 119,514,429| 1.4/100 1,673,202
TN 88,533




(B FH)

18| 5 $hEF
Bl 1 #ES
BREERERS 16,356
F R 1,632,960 FH®M1.0/100 16,329
3,945 FH™0.7/100 27
1| 6 Aimf
Bl 1 A&%
BEERERY 163,476
R o S ® #
A M FH
= A = 492,752 250 123,188
B A =
R L L 130,352 150 19,553
=! 1% = 226,697 90 20,402
E ¥ R 1T 5 4,754 70 333
18| 7 #mhEtEfR
Bl 1 #HhstES
BEERY 1,330,640
& E A i % S ® %
FH FH
+ th 144,830,334 0.3/100 434,491
S 2 298,716,334  0.3/100 896,149
PR A 15,371




GRS eE)| (BAf:FH)
;14 FRERUVFHRE | B2 BEERH
B 1 EE#
Bl 1 #&¥EERE HEREFE RN 203
644 141 33,978
&% E AR 6,834
2 Al A % IR 28 EEEXB LA EHERER 741
B M FH iz Al " 1T 5 F 55 & %
B M E £ £ 12 319,641 3,835 ® M FH
£ @ #% M 12 6,191 74 K B = 220 3,158 694
% ) fth 12 243,745 2,925 B B X k& E 4 1,928 8
o 1% = 4 1,928 8
(G e e Wiy 9 2 22 317 B B 1 100 313 31
33044 1415 9624
BRIt S B SEFERR 56
EAETASa =T A—ERMH 247 1244 141y 4,679
27344 14FE 907H
& A BT E Al & SR EEE A F 1
P FEYOEERF AR 1,876 244 [REETS 525M
2 Al H B 1 F B 58
# M FH SMEBEESHIAV RIS EEE 2,928
2 B M K — L 637 940 598 VEd Rl H 1 F B & %8
BN OB X F OE 41 829 34 I3 = FM
= B E % 958 633 606 BE 2 B = 5,810 490 2,847
= % = 12A((A) 52,288 627 AR MR — 4 11,546 46
z ) it 2 5,280 11 Mm=ENK— I 1 7,250 7
ShdH WL — A 6 4,762 28
BE RS EFE AR 16,635
24314 141y 68,457H FIEETZ AMERIEEL 2—F AR 1
14 1,420M
mAMEREERY 1,640
2924 141y 5,616/ ENBORERH 2
444 1415 646M
FZERTRE -t Y —E RIES R FE R 102

34 141

34,231H




(B FH)

_ | 1Bl 4 F@ERH
ERIRTEARE L 2—FE AR 1,200
2 Al A # A & F ¥ £ & FHEEREL 2 —E R 9,015
A M FH i ] Al BT 1T H# F B & %
A = # 3 50,000 150 73 = FM
E = # 12 38,520 462 B x 32 85 =F 496 1,608 797
B B # 12 40,000 480 B & = 682 1,507 1,028
ok E # 12 9,000 108 = E=3 = 104 1,144 119
B & X & E 116 1,182 137
| B8 #mEmRH FLo—=245IL— L 10,350 130 1,346
K B = 3,974 1,185 4,709
rEEaBE A—ZEIRA 41,026 H K - B B 4804 183 879
i Al A B PN & %
A H FH | [B[5 EMKEZEHERE
A il 3,650 8,000 29,200
i\ " # 1,460 8,100 11,826 EAEEFEAE 619
2% 14 309,720M
NEESSE AR 47,866
i Al G 1 % F 8 & % BERKEERH 22,945
1 = FA 16844 14EY 136,580M
12 ¥ X & 6 11,083 66
12 ¥ L k 2,468 18,511 45,684 ExELL—— 58— F AR 957
3t = B 17 4471 76 VE Al H # 1T 8% F 9 * Z
g KX - F O b 2,035 1,002 2,040 ® M FH
% A # A 310 2,201 682
SRR 495 iE B *3 180 1,530 275
A% 1Y 123,750
BosE RF 140,518
FEEE 35827248  144FEHY 392M
ERIBTHREFE L 2—FERH 46
SEBEEF S 1HF1 9,214
ERIBTILEE M T ek E R 429
ERLM 128 A¥¥  35800M




(B4 FH)

BRI FMRABRR R 2—FERH 12 BrLEERXRtE A—FRE 23,295
ZEMAR—IL 14 12,3504 Ed Al % 1T % F 55 £ %
# & FH
| [BH]6 AIERAH R — L 85 187,500 15,937
R OB B O=E 65 14,500 942
SR T ER M 2—FRE 4,638 i & = 225 11,000 2,475
e Al B IR EE £ % = =3 = 30 17,000 510
# = FH 0 = 20 3,600 72
S—Tqa4rTIL—LA 95 3,481 330 Mt B F & 180 16,800 3,024
= E S 290 6,949 2,015 B A B R 20 2,000 40
#* B B R E 115 3,466 398 = % P E B #BUAFRU28)|(F) 294,700 295
HEHY AT LE 3 2,210 6
B oW B R = 570 3,315 1,889 T4y r—IX)—2F AR 3,306
i Al % # 1T F 5 & %
BERZEAS AL 33,865 ® M £
i Al A B Oy B £ B 7YV—F (8 1) 600 4,200 2,520
- A = FA 7Y —F(— %) 7,500 65 487
Bl— - XK¥* 4 47,000 472 22,190 S 3 o 7 10 3,700 37
& L3 4 600 250 150 = 7% B B EDiafrG2B)|[(FE) 254712 255
I b % 4 2,900 120 348 NEmBEREEFERB AR 028) | () 7,674 7
— k- XE4HE 17,000 427 7,263
H = L5 4 1,300 225 293 AT A—av o A—RIEQBFE AR 1,912
- 800 108 86 i Al G T3 F 5 & %
BE(—-KFHE) 10 850 8 23 M FM
E R BEE (RES) 400 1,023 409 WM E 3 — F+ —[1HhFR028)|(&FE) 1,867,000 1,867
e % 8| GRS 14,000 205 2,875 AN ba—F — 30 1,510 45
& & # B HNARU28)|[(FE) 243122 243
SRIBTE VD ZE AR 699
JEd Al % # 1T 5 F B & Z
#* & FH
+ v A — 31 6,712 208
N Y A O — 151 3,253 491




(B FH)

| [B|l7 £tREHAH
EIEIGFERA 80,420
B SBE 108,842 E Al 8 B [1 &Y £ %
2 Al o = EHHEHM| £ B M FH
= FH n B F E % 3,571 1,831 78,455
B #* 23450 & 700 16,415 O OB O H - - 1,965
B B #* 16,100 = 630 10,143
BHERELEDY 695 # 994 691 | TE[8 BEFEAH
Hh T O#E % W 1,520,500 m 46 69,943
T £ B k& & 35 # 20,000 700 e h (g FR 48,395
ZTDD S AT 150 # 73,000 10,950 JE Al o = EHEM| £ %8B
M FH
A & AR 2,856 B o FE H 76,170 ni 548 41,764
JE Al 3 = EHEMmM| £ %8 m % & A 60 # 110,526 6,631
® M FH
i 7K 7 63,000 441 WiziGEEERE 5,370
T ih 105 23,000 2415 JE R b = SE B Em| €& %
€ M A
BN EREFERAH 139 FRHHBME 15 70 43,377 3,036
114 1HF 12,715M FEHEM 1A 86 26,265 2,259
£ A B ME 18 83 906 75
OS2 T4 EESAR 17,678
i Al % 1 # F B & Z FEERAN 239,846
1 M FH JE Al o = EHEM| £ %
& A 4,700 386 1,816 ko & FA
& 1,184 13,397 15,862 M i M M 12,011,110 9.16 109,962
54 M e A 15,462,437 8.40 129,884
EEFERR 1,040,148
] Al F % |[{1FRAFTH & Z AER 21,605
P M FH JE Al o = EHEM| £ %8
N B & = 3,798 18,251 831,825 ko & FA
w B & = 980 15,360 180,636 N M fE 9,844,870 1.17 11,518
BELHEEEREE 6 35,260 2,539 S fin M RE 4,670,070 2.16 10,087
&L N E 1 24,010 288
ot R O o - - 24,860




(BAI:FH)

SERT#k Hh R SR A F 273
84 1HF1 34,171H
| B9 #BHFEAH
SEERIEEN 85,060
i Al A B 1 N B &8 ]
A M FH
1 =3 4 240 9,900 28,512
2 =3 4 239 9,900 28,393
3 F & 237 9,900 28,155
WHEREH 864
R £ A B |[TANBETY 28
A M FH
B[ 3 27 3,111 504
< 1) £ 28 2,143 360
BRIEEBARALABEABRRRUFEAR 25,813
i Al A B Oy B E]
At A M FH
- | A% 30,000 472 14,167
BlIp - o o4 2,100 110 231
- f% 20,000 380 7,604
KN - B 2 & 1,070 88 94
R B E| (lRES) 500 1,023 512
e 5% 8| UHERS) 14,000 205 2,875
5= E 5 F A H2hmGA)|[(B) 47143 330

B EE A LR 7,759
i Al A B g H & %
- JN M FH
Bl—fif - KE¥ & 8,000 473 3,787
EE R 150 250 37
- th g A& 1,100 110 121
— k- XKE4HKE 2,000 426 852
= R e 20 225 5
R BEE (BRES) 80 1,023 82
i % E| GRS 14,000 205 2,875
EEFBEEA—EHREH 40,257
JE Al % 1T H# F 8 & E
#* & FH
X & - I 85 66,356 5,640
mTEREETRK—IL 305 6,426 1,960
2 H MK — I 410 11,593 4,753
= =5 = 465 4,931 2,293
® = = 1,945 4,426 8,609
0 = 525 2,257 1,185
A A2 U xF = 2,465 2,965 7,308
)N — B )L =E 33 10,991 362
& B 145 5,316 771
o 7 = = 10 308 3
Mt B i s 1,950 3,556 6,935
B 8 4 F A # 10 43,800 438
ML EMEREN R UOERR 617
E Al H IR & E
#* & FH
ERETHESH 3,842| (—H%) 140 538
o) —FRAH 2|(8) 39,620 79




(B FH)

R ZERT /2 REE(E R # 760
96014 1HFH 792M
mEXIEEEFERAR 41,176
2 Al GE: 1T % F B %8
=3 M FH
X & - N 140 68,504 9,590
N r = L 155 28,588 4,431
B &= & — I 150 11,691 1,754
= £ S 340 5,511 1,874
# E 40 7,261 290
® = = 990 1,745 1,728
Z B 590 1,082 638
B S 5 306 1
Mt B 2| B 1,120 10,880 12,186
B 8 4 F # 2 6,500 13
s B B OOH 128|(H) 722550 8,671
ERIBT XL S EEE A 131
4944 1415 2,693
RIS FSLvhL Vs AR 14,478
2 Al H T 8% F 58 ]
# M FH
SEBEE(FE) 4210 1,692 7,125
B E(ME) 705 1,070 754
2 B MK — L 95 21,365 2,030
X k= L 140 11,205 1,569
N k= JL 145 8,687 1,259
G % S 1,155 1,508 1,741

BRI AR E v 2—FE A 5,709
i Al A B DS & %
JN M FH
H 15 Y 1,000 754 754
= 3H 1,600 3,097 4,955
B S REEFE RN 3,938
i Al GE: 1T H# F B & ZE
- * M A
= |— fi% 502 274 137
1 - 65 170 11
b A LUTF 156 120 19
— fi% 401 2,430 974
= L5 sl 278 1,845 513
Kl = 4 p F 20 4,482 90
B #% F & A # 1,002 999 1,001
E B o FE A H 563 1,672 941
B2 B # 43 5,864 252
HIBTRAE—K X —hGE AR 3,464
JE 7l B [IREE & %
* & FH
A 5 p 2! 1,416 65 92
B £ # 2,058 238 490
v —XviEgEH 84 2,206 185
®x B £ H 51 229 12
g U & r H 146 17,929 2,617
Bz B # 6 5,041 30
B 2 1AhFRUA)|(B) 9,541 38




(B4 FH)

W7 A Rkwr—i5E R 21,430
JE Al G 1 F Y o]
Iz3 & FH
A 15 # 1,459 77 112
ey £ p 2! 6,594 328 2,164
B % % & & # 382 1,442 551
E &8 B 9 # 96 26,371 2,532
oA 8 1 o# 1,179 13,565 15,993
BE B # 30 2,615 78
BRTART)—FHERH 19,508
2 Al G 1 3# F B E]
Iz3 M A
A 15 1 1,977 74 147
hey E # 7,269 331 2,407
B #% % & & # 449 1,568 704
E &8 B 9 # 42 51,024 2,143
B oAl B U 0H 788 17,227 13,574
BR B #1 41 13,009 533
BB TART—FERH 15,994
2 Al G 1 3# F B Z8
Iz3 M A
A 15 1 673 77 52
hey E # 2,579 333 858
B #% F & & # 167 1,447 242
E &8 B 9 # 118 25,342 2,990
# Al B U 0H 825 13,018 10,740
BE B ¥l 67 16,569 1,110
B & 4 ﬁ H # 2 1,018 2

AIREEE B AF it 55 58 A 15,728
JE Al = # 1T 8% F B & %
# & FH
M K Bk 15 - Bk 15 112 25,629 2,870
TR¥XG-BEABEES 240 1,634 392
Bt B Bk 35 - Bk 35 104 1,676 174
it J= Bk 15 - 7R [ HR BA 31 3,864 120
MRF=Xa—k-a—h 25,390 222 5,636
HRF = 23—k KR 1,139 557 634
byh—1F- K=& 13 3,763 49
Hyh—1i5- ﬁ B 115 752 87
e EBiii5 - Fi i m 11,310 199 2,245
B b % Bzia,a gmﬂ% 202 392 79
Mt B B B 5 137 1,111 152
Y 7k 71-\ — L i’a‘ 104 2,482 258
Mt B i % - 3 & 150 8,558 1,284
BE E b 14 496 7
B 8 4 F B # 25 69,622 1,741
kG AN 80
17444 141 465M
e 3 BT $4 & 18 B)) 4 B it 5% {5 A 1,593
i Al % 1T 8 F 5 & %
* & A
g Bk 5 35 3,000 105
% B EI’J = 15 60 3,200 192
Z2EBHRELIS 1 1,500 1
AR—= t W 3,500 370 1,295
ERIETRKT—ILE R 107
443 1415 243M
A BT EP Bk 35 4 A # 27
114 1HF 2,543H




(B4 FH)

IH| 2 FHH | B2 REFHH
Bl 1 #&¥EFHE
BECELRARR 9
SEPAR & F #H 82,152 3A TAFEY 3,000M
JE Al B i ]
# M FH | B3 #BEFHH
PEE-MK 32,520 450 14,634
B ERE - K 14,140 750 10,605 BRZETF R 1,500
F & M = 3,000 350 1,050 50088 188 3,000
iE| & 4 EE HH 2,420 350 847
FERLHEFHE 400 350 140 EXRBEFHEHBFERFFHH 2,543
= R = 92,140 350 32,249 462588 1BB 550
FERE (LR 60 350 21
HERERVFEHERHEE 1,820 350 637 EENREZHEFHH 3
BRIEN #& 5E B4 49,900 350 17,465 114 3,400
FN 8% & §% 5F 3 {7 6,920 500 3,460
B ¥ :f BB % 1,100 400 440 EEEFHH 1,693
BHIA—K (B3 500 500 250 81744 141y 2,074
BABEH—F (@& 5 800 4
£ BE E B B 1,000 350 350 RS RENTREFHN 60
a4 144 15,000
BEIEEFE TR REEF A 825
1,100 1% 750 pY) QUELES ¢ 5 12,855
1,836,400kg  1kgF1y 7M
FTERTHREFHH 168
1174 14F 1y 1,436 — R EEVMNE LT REFHR 270
1844 14 15,000
S E FH 12,922
i Al H i 28 A IR FH 443,989
= 23 = FH B HEASD 82,684
- H 3] 26,372 450 11,867 REZ-FBELR—EEY 10kgl LIZFEH83H
PR = 439 1,300 571 HEIRE S 361,305
B 1,384 390 484 IBEEC AR (AT - ) 10T &2 192.6H
CHAIBE (FEK) 1#%EY 389H

10




(B4 FH)

LR ALEE F 58 40,041
REED 2004 1-Y 151341 39,015
TR 1,026
| [Bl4 EMKEZEFHRH

SEBAF 38 403
IHREIBA%E 41044 14F1y  983M
EEREERMCRESERIEEZLFHN 550
23444 14315 2,354

AIERBHREFHH 550
25088 158 2,200M

YRS REFHN 10

1 10,630

HBKIEER AT F 8 21
244 114 10,800

| |B|5 BIF%H

HEBRREEFHH 582
REEAERRE 24088 1T 24250

| TE[6 TXRFHHE

BEMEZHEFTHH 7,959
30144 1415 26,4421

BEXSTRERBFHH 5,327

2494 14FE1 21,394

RYBRECSEEFRTHAFTIHN
6344 14 33667

ExFEEVHEETHERTERFFHH
5 14315 6,000

BEYIRILX—HEMER LEERFEFHH
5% 14315 6,000

BARITASH A REFEN
134 141y 54,823M

EHE R FERFEF T REFHR
3 14F1 33,222M

AIL B #R i 3 S 32 {5 2hort
16244 1H#5F 13 1,055/

2,121

30

30

712

99

170

| (B 7 #EBFHH

BERYITBAREE R AREEFHH
3471 14EY 14,942H

5,185

| [B[8 BEFHH

SEFERAZHRUBRER
AZEH 240N 1A 5,650
®REF 264N 1A 2,200

SEERIAERFFHH
27044 14 460M

hHEE AR
3A 1TAFH 3,000

1,936
1,356
580

124

1




[%ss)kél (B FH)
19 @A
IE EEIINS NEERE 5,000
Bl 1 BMBAZRESEAS LR ERREE 8,505
B ERAR 5,000
BEEEBEAS 1,900,000 INEESEEE (BBAI 1 — S EA RS 33,692
A EEETS INERH BRI E 1 — A ARG 115,091
INSEREHLANE & 2 47461
| JEH[2 N EBREREESEAS hEEEEE (REAIVE 1 — A EAKEE) 8,864
SRR E RO 1 — A B ARG 62,578
NEBERBESFEERAS 41,011 e AN G 37,369
MEBREE REELE XIRAEE 1,664
AR—V A BRI EELE 9,265
| [B]3 tEiREBESEAS
| [B]4 SHAMEREEBEAS
gk BEEREAE 640,403
BHREBE TS LR 1,900 THAMEREERAS 500
WEARTEEREEE 5,981 AERELE
HEREE R E LR 5,370
BT A R B 1,889 [ TE[5 RiUtELEAS
BEHENHEENREEE 58,972
NEAHMERERRIEELE 17,311 BUELEAS 6,914
ERR 15 1 EENE 301 B THEX IS IEELE 267
M FIRILA - R EE LS 500 EEREEETIREXESLE 200
WEERRELEE 3,000 HEBUHELBEEBERYE RSUTA7 TREHRESLE) 122
ESHRRYR— o a—ELE 29,380 TR 92
BIMKGYLE 31,020 BEESEX LAE RS EEEE 982
ERiIERE 32,546 NEBEAMEBIIESLE 630
BOBHIYRESLE 16,524 KEBBRFLE 1,140
AVNIUR IR LT EEE 13,946 REEREERETRE 400
BEREREEEE BARASLEEYS) 200 RERUHE LS 819
BN IRRAANUMNEER (R ER—YALBRBHLE) 5,342 REEGRNESR 349
KDOHhLABREHELEES 10,900 VEVBRESIRIEREELEE 1,071
BN LR 50,457 FECELELE 498
BERELEEERE 465 FECHERIEELE 344
HIBEERE D e BB 19,910

12




(B FH)

| [Bl6 ZMEEERFEEBAS

| [B[12 35N\ BLOEEREEEAS

FMNREREEERAS 17,044 HTNEBEVEEREEBRAS 3,895
MEIREE 13,870 SEKRS -ERASHISREME 3,495
M H FIRIE K - AR S B2 B 3,174 RIEETLSHEDHS 400
| [B|7 SBAirEEHESEAS | [Bl13 RUEREEEEAS
BNIRERGRESEASL 42,867 TY)ERERERBRASE 100
HERGEEEEE (BAARBELHHD) T YEREHRE
| |B|8 NEEHBELEAS | [B14 REEEHERESEAS
NEEHEEEBREAS 29,600 HEEEHEHFEESEAS 5,103
NEHSEES 28,600 REFEEESE (P RREEEHERE) 5,000
NEEEE 1,000 REFEHEESE (MENARERETTHERE) 103
[ [B]9 FEEEFEELEAS | [B|15 RAAR—ViREELEAS
FEEBBEEEAS 11,000 AR—YVIREEEREAEL 700
EEHISSES AR—YBE DY B REEEE

(2BARDETARRYT—KE (P32 4EBF)BEHEDD)
| [B[10 ZEREESEAS
HERBEESEAS 2,000
N EE R EGE 1,100
hERRETHEHE 900
[ [B11 siAEZELEAS
AHARFEEERASE 4536
BROEFE

13




# A = &

(EREERKRMEZEMEEEEE] (EREERKRSAEZEMEBEERSE] (BG:FH)
K| 1 EREERZEFEZEREENA K| BREERREZAZEREENA
H| 1 ZERA H| 1 ZEIRA
B[ 1 ABRRIXA B[ 1 ABRIXA
52 P R B 67,729 2 REN 32,281
b 173 4 195K ] 73 4 195K
B2 F OE 5,124 A 2 OEF E I 3,294 A
[ |B]|2 #sEIRA [ |B]|2 #sEIRA
52 7 R B 69,904 BB 32,256
B2 OE E 13,680 A B2 OF E 5,760 A
IH| 2 FAMRUFHA IH| 2 FAMRUFHN
Bl 1 #EH Bl1 B
BE RS EFE AR 142 BERFGEHEREFEAR 169
244 1HEY 71,415M 3 14F1y 56,568 M
mAEEREFERH 5
144 5,000H

14



(EXERABZKESERFIEE] (A5 E X (B FH)
F| 1 EERBSKESERA 1 ABBEZRA
H(1 FRAMRUFHH H| 1 FRAARUVFHH
B[ 1 A B[ 1 EA#
IKEE R 6,504 151543 B 50,400
HFE E » 6,336 KEYMBRES 8,000,000 M @6.3/1,000
g A X 168
e i 5% 158 R R 11,224
(i Al m i | F ¥ OH & %
ni M FA
FT1. 521515 505((128) 2,878 1,453
) A f B F 983|(12H) 9,941 9,771
BB IRTAER E A 36
614 1415 6,112

15




[%IE%%%##EU it] (BYEE X =] (B FH)
1 BIEHIZEERINA AR EEEET PN
IE 1 FZEIA B 1 FRAMRUFHH
Bl1 #AH Bl 1 #AH
EIEIGE RN 107,760 YR AR 41,065
A B EE B OI5 49,476 i bill A B T ¥y B L]
i BT B H 15 58,284 = A M M
g‘ﬁ A (1 @) 49,100 572 28,066
i BT BT 25 355 Bt 75 It 3% {58 AR 4L 12,290 o | A C1E R 6,100 1,034 6,305
2 b1l m i Iy B ] t %N 7,600 462 3,512
m M FH S EEE BREY) 300 1,023 307
IE & 105/ (12H8) 30,660 3,219 e &% @ (S ERS) 14,000 205 2,875
112{C 3A) 7,740 867
+ % i 114{(128) 23,520 2,681 % 5 e =% R 21,351
199|1(12H) 26,160 5,206 i Al " I B %8
49(( 3A) 6,480 317 PN T3 = FH
= & % 85,400 100 8,540
BERGTHEERERRAY 80 o | 5 S 8,500 1,000 8,500
A4 1HF1 20,214M 2 (1 H % 3,500 1,232 4311

16



T3 15E NBEMEKRERE (VI D) | REEX—F

(4 FH)
No g EXL T %8
1 TRIREHHREER HRTHBFEEEMEESE 42, 500
2 AL ERFE AN L VELEER BEEENSVR - BEEXEEYRE 13,500
3 R AR S R AR EBREEEHPVRNREEXRE (BHENLRENREEXE) 12, 800
4 R AR FE S R ER EESHERLE BEY—EXEXE) 8,900
5 Rt AR FE S R ER EESHERLE GHEERSERIATLEXE) 4,100
6 FIZERTITE > 2 —REERLAER [FEMMFELRRLGEEEEE 7,000
7 BRETITEE 2 —RERUERE (SHHNRRFELLGEEEXE 5, 600
8 FIZERTITE L > 42 —REBEAR [(MEERXEKE (MEHNEHZEREMEESESR) 7,700
9 TRREMREREE DRBIGHERIEKE 2,200
10 IR AR £ BGR g EINEE 2 —EEHEE 17,700
11 EEIREEEMER BEREE 1, 600
12 EFRIRESEMER BREANIN—F A EEEE 9, 400
13 IKERLZEEKER AFRASEERRE (VU JRSEFEEES) 4, 500
14 IKERLZEEKER BRAGEERRE MBERRERE) 6, 000
15 IKEERLZ EEKER BMEBARHEE (DHYXEBREXRE) 1, 400
16 IKEERLZEEEKER BEEAXHEER (V_ERBAMNKREEE) 3, 600
17 IKEERLZE EEKER BEEAXHEEE (RyXTHERBAEKREERE) 1,500
18 IKEERLZEEEKER SMEEEREEE (DU VYESEEEER) 3,000
19 IKEERLZEEEKER HNEERBEXEREXE 2,400
20 IKEERLZE EEKER KLoDELILYHESESE 1,000
21 ERIREIERMEESR PR IEEMiE 2 —EEE 15, 900
22 ERRESEA SRR BSIRE A RN FHEEE 20, 900
23 | FIEETHtE L2 —thiEiRER |BNIREA N MEEE 200
24 | BRETITEE U2 —HEgiRER |BARESA N MEEE 4,400
25 | MEETHEL 2 —thiEiRERE |EOREEEEE 13,200




(BEGI . FH)

No e XA FEHE
26 | PIEETITE L 22 —thEiRER |[MEMERAAENEEEER 37,900
27 | KEBZEBHAZZARAER SEARHEMERUVEEE (K LAEFOYSHHE) 4,700
28 CELREMOELHAR HMHEEEN Y REREMHBE 6,100
29 A EFEREEFER B I BR = T AR B R E BN & 500
30 A EFERHEEFER I XM ETERRAEEMDE 11, 000
31 EEFEBRAR—UR HREEMREE (RR—VIREBBEHIHBE) 18, 900
32 HEFEBRAR—UR HREEMEREE (KERESH) 7,900
33 EEFEBRAR—UR HREEMEREE (MRAFTKEE) 500
a &t 298, 500




FRI1EE MAHERXMNE HEAEMRELS) KAREToAIBEITONT

<zHHA>
HEREDSI LIFAOMAHERI FE (HIFREMELS) ITOVTHE, #SRERER (B0 - #SRE - REHLE) CTETHREIC
RETHIEELTLET,

(BA)
- W AHERR TR 3,500,000 +H
55, tHRREBELS 1,441,176 FH
f%%&ﬁﬁ%(ﬁ%ﬁﬁ-ﬁ%ﬁ@-ﬁ@%ﬁ)c§¢6ﬁ§ 40, 685, 188 FH
e (e T
‘ Bt P M R
5 & i . " g Egﬁgif 4 3 Bt B - B B E
g 2 g H g L T 0t A RALGAN
#t = & Zild & 6,615,376 4,728, 458 23,700 7,884 1, 855, 334
o % A B 1k g 1,008, 815 32,746 403, 000 161, 456 411, 613
ES R & & B B ] o & 8,989, 469 5,819, 351 118, 000 191, 887 2,860, 231
= 4 & e 3 & 13,150, 119] 10, 054, 035 0 92, 000 3,004,084
m ES & B & & 2,845,879 326, 910 0 7,216 2,511,753
I Hi 32,609, 658 20,961, 500 544,700 460, 4431 10, 643, 015 1,441,176
g HFXEE|EF AN S BB HE X 4,965, 223 1,349, 792 0 0 3,615, 431
@ I Hi 4,965, 223 1,349, 792 0 0 3,615,431
123 B x & ®rR B2 & £ & X 2 1,459, 503 9,623 609, 600 125, 397 714, 883
f; FXHE|H AN R HEH E X 3 1, 650, 804 0 0 0 1, 650, 804
4 N Hi 3,110, 307 9,623 609, 600 125, 397 2,365, 687
=) Hi 40, 685, 188] 22, 320, 915 1,154, 300 585,840 16,624,133 1,441,176

X1 ERBEAREFNRE. RASHEERFIRH. TEARFIRH~OBRHESEH X2 1BXBE. 2BFHEDSH
X3 BERBERARKRMNEZEFMEXRFIRG. ERERARITIZDEFTEERIREFT. FREXIH~OBRLESH



